LOCTITE 243

400 LS-E/ MIL 04 <2004><EU><9390D4>
INSTRUMENTS / LOCK SYSTEM

Pos Part Number Description Additional Text Quantity
2 55011599000 PULL SWITCH LOOSE IGNITION ON/OFF 1.00
3* 57911003200 MASK BRACKET LC4 MIL D 04 1.00
4x 57911042000 SOCKET MILITARY 99 1.00
5 54635036000 BUSHING 2.00
6 41001052000 RUBBER SLEEVE D=12MM 2.00

1607



7 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00
8 0985060003 Self lock. nut DIN985-M6-A2 2.00
9 54603048100 clip nut M6 2.00
10 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00
1" 0014060203 HH COLLAR SCREW M 6X20 WS=8 1.00
12 0014060253 HH COLLAR SCREW M 6X25 WS=8 1.00
14 0017060203 EJOT PT SCREW K60X20 WS=6 MXC, EXC 5.00
20 58414040053 METAMOLL FOR SPEEDO.15X32 2001 2.00
21 0985040123 FLAT HEAD SCREW DIN7985-M 4X12 2.00
25 49111425000 BULB 12V 1,2W (W2X4,6D) 5.00
45 40011166100 KEY BLANK LC4/DUKE/LC8 1.00
46 58411066000 IGNITION LOCK W.LIGHTSWITCH 98 4 SWITCH POSITIONS 1.00
48 58411066044 IGNITION LOCK+TANK PLUG EU '98 1.00
52 50314050000 SPEEDOMETER DRIVE 748220 (3.0) 400/640 LC4-E 1.00
53 50314053000 DRIV.DOG F.SPEEDOM.DRIVE 2000 1.00
55 57914055100 SPEEDOM.CAB.M12/M12 L=920MM 01 1.00
57~ 57914057000 SPEEDOMETER MIL. 04 1.00
60 6899785 LOCTITE 243 BLUE 5 ML 1.00

* = New part




